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INDIAN ECONOMY, GLOBALIZATION AND
SUSTAINABLE DEVELOPMENT

WRAA srefeqaeen, qHSeRu Ua |aq faema
SUBJECT CODE / fawa =g : 19

Full Marks : 200 Time : 3 Hours
quiis : 200 qHYg : 3 uwe

Instructions : The question paper consists of five Sections. Each Section carries 40 marks.
Section — I is compulsory and contains twenty objective questions. Each carries
two marks (2x20=40). Sections — II to V contain two optional long descriptive
questions each. The candidate is required to answer one question from each Section.

e T U= Ot Guel H fa5Th B | WS WU 40 3 &1 2| @ug -1 3ifqard B, fored
- IR F 20 TIAB TH § (2x20=40)| TE-II § V T TISF TS H
R-A IFfors PH-Iwia v B wenfiat w1 v gve # ¥ T H I AT
2l

SECTION -1 (2x20=40)
fCACE |

1. A persistent fall in general price level of goods and services is known as
(A) Disinflation (B) Deflation
(C) Stagflation (D) Depression
Tegail 3R Werefl & FHIE A WX A TER fijrEz 9w s )
(A) saEhifa @®) suEhIfa
(C) TR @
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2. The book Planning Econonty for India Was written by

(A) V. K. R.V. Rao (B) M. Visvesvaraya

(©) K. N. Rai (D) Manmohan Singh

R S Wi s gee e g ford! TE R

@A) R F, AR, 9, T ® fa@waan

©) % T, ™ ) wHEE fe
3.  For a rural person, the minimum calorie needed to reach above poverty line is
(A) 2400 calorie (B) 2100 calorie
(C) 1800 calorie (D) 1500 calorie
T AT A T Yar ¥ IR T F o s e S @
(&) 2400 T ®) 2100 FA
(C) 1800 FaRd (D) 1500 Fardt

4.  Which of the following best describes the labour force participation rate?
(A) The percentage of working-age population out of the total population
B) The percentage of working-age population that is employable

(C) The percentage of working-age population that is employed or actively seeking
employment

(D) The percentage of working-age population that is a part of formal sector
frmfafaa § @S9, 70 T IAIGR X F G4 =07 a0 I 29
(A) FA TEEAT A § FHEHIS IY H STEEAT B AfAwd

_(B) HEHI IF B AEE AT AR qve R
(C) T IH R AR F AT S FeRd @ 41w w9 IR 4 @ &~
D) ST & BT I B SATETG) H= Ay
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FRBM Committee recommended centre debt to GDP ratio to be at
(A) 37 percent (B) <0 percent

(C) 25 percent () 35 percent

. ‘ 7 - W S 5oyt 3
gt sepura % sl 3 prBv afirfr gra e @A T S

(A) 37 wfawa (B) 40 wfear
(C) 25 wiava () 35 e

Who among the following used the tenm *Green Revolution” lor inereasing agriCulin®al Pro i
in India?

(A) Norman Borlang (B) M. S. Swaminathan

(©) Ray Krishna (D) R.K. V. Rao

frefafaa & & fre w@ § S Samwa TR & fan gf@ s o= & s
e

(A) AT A (B) UH, UH, FTHATTA
(C) T (D) 3R, &, @, T4

The tundamental cause tor the collapse ol the Bretton Woods svstem wis
(A The liquidhity problem (13)  the adjustment problem
(C) e conlidence problem ()Y Al of these

ACA qZH Yl & 9 1 e WY 91

(A)  acaan €1 wwen (B)  @wmAsE 6w

(C) sirefagara & wwe (D) = A sl
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*Atmanirbhar Bharat® scheme focuses on which of the following?

(A) Import substitution (B)  Export industrialization

(C) Both (A) and (B) (D) Neither (A) nor (B)

ATAFRR R oA, Pl #§ fre — o $fea w87

(A) I\ wfdenH ®) fwafa sitenfiaso
© (A) 3R (B) qHt D) A @ (A) AT (B)

Tenancy reform is related to
(A) Regulation of rent (B) Security of tenure
(C) Conferment of ownership rights (D) All of these

FRAFR] IR H G4 §
(A) o & fafmm @ (B) TRITAFRY T&m &
() w@ifra el 6 g & D T ¥ wH

Which of the following is a tax exclusively imposed and collected by the States?

(A) Income Tax (B) Corporation Tax

(C) GST (D) Land Revenue
Prferfaa # & -1 R f999 T F TT GRS SR FHAT Strar 27
(A) ITaR B)

©) St w@, A D) -3
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Mid-day meal, public distribution system, integrated child development schemes arc

Growth oriented approach

(A) Poverty alleviation approach (B)

(C) Minimum basic need approach (D) None of these

firg 3 i, T FyaRor worelt, wehigd e fom AT
(@ T S gt ®) fawmErma g ~

(C) AR JRETE saEEdT gREn (D) T d IS ARl >

The Jharkhand Government has launched three employment schemes focusing on the long-
term goals of sustainable development and creating new assets in the State.

I.  Birsa Harit Gram Yojana (BHGY)
Veer Sahid Poto Ho Khel Vikas Scheme (VSPHKVS)

Nilamber Pitamber Jal Samridhi Yojana (NPJSY)

< H F

Deen Dayal Upadhyay Grameen Kaushalya Yojana (DDUGKY)
Ay 111,10 B) ILI1I, 1V
© 1,1v,1 DO 1V, 1

U7 # waq faara ok ¢ wufy a9 & qldwifas et ) e S w7 g ARae
FER 7 d AR A g A€

L faar ef@ am A

I. 9R &g Poto Ho @el famm@ st
M. AigrweR dareR s wgfg aem

IV. gFca Sute™ Irior i AT

Ay LI (B) ILII, 1V

©) LIV, 1 O 1V, 1,1

C
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Revamped Public Distribution System provides benefits to
(A)  Self-help groups (B) Cooperative sacieties

(C) Remote and backward areas (D) Cities

AR ardvfe frero worel fraen o wer el 27

(A) T4 HREA OE (B) wesrl wfufaat

© IR AR =R 3o D) X

What is the aim of Pradhan Mantri Samman Nidhi Yojana?

(A) Minimum income to the farmers (B) Pension to the farmers

(C) Imigation (D) Free electricity to the farmers

weEe e Yy A @ St = R e

(A) Tram w =Ead 3™ ®) fraE S b
© f&=ms D) fFarl = g faseh
)4

Arrange the following sources of irrigation as per descending order of their irrigated areas.

—

I Canals

O Wels& Tubewells

I,  Tanks

Choose the correct options from the code given below
a) L ILII B) IL T,

©) ILTLI (D) LI
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7 19 (PV)
Marks

fiard & frmafofaa el 9 o R a1 % oeEl F9 F AR TAafer w
o T

M T @ A

(m) dteTs

g U fawEl # 3 g fawew 91

@A) LIL I @®) I, 1,11
© ILILI oL II1, 11

16. According to economic survey of Jharkhand, the GSDP at constant prices was estimated to
grow at the rate of percent in financial year (2023-24) and at the rate of

percent in the next year (2024-25).

(A) 5-1and 57 B) 6-1 and 6-7

© 7-1and 77 (D) 81 and 8.7

ARGUZ h PfF FEew & AR R Fwdl | F6d T59 W, SATe fadg ad
(2023-24) & wfdsrr 3R 3Tl aw (2024-25) # yfasa &1 @ F T3 F
A T T T

(A) 513K 5.7 B) 6-1 3K 6.7

© 718KR77 D) 813K 8.7
17. Which is not a Kharif crop?

(A) Jowar (B) Maize

(©  Groundnut (D) Wheat

T T i wEa(FE)R

(A) SR (B) HFH

O reeh D) T

C
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18.  Which five-year plan focused on ‘Growth with social justice and equity
(A) Ninth Five-Year Plan (B) Eighth Five-Year Plan
(C)  Seventh Five-Year Plan (D)  Sixth Five-Year Plan
B W T A R A AR wEEa % wre e ) Hfd A7
el
(A) At GEadta g ®) dedl TEaig A
(C) At g=adfa A (D) B3 g=IHIA AT
19. The standard of living in a country is represented by its
(A) Poverty Ratio (B) Per capita Income
(C) National Income (D) Unemployment Rate
Terelt Q91 # Ste &R w1 wfdffire saes SR1 TR iman 2|
(A) RIS AT B) Wi =fE sma
(C) TET A (D) TR
20. Fiscal deficit of Jharkhand for 2024-25 is targeted at percent of GSDP.
A 3 ®B) 2
C) 4 D) 5
T 2024-25F f%fq ARAYS HT AR °TeT, The T R TG H e
wfera ferar B
3
3 o 2
© 4 D) 5
CCSME23 (19)/39
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SECTION-II
@ - 11

1 Distinguish between net product method and factor-income method of cstimating national

income. Which of these mcthods are followed in India?

i A w e S % o gg S fafu ok avee-gma fafr % S
s Al T A A i g # oA St 27

OR /g

“India is currently experiencing a demographic dividend.” Explain. Discuss challenges and risks
asssociated with this kind of demographic wransition.

“maﬁnﬁwiﬂ@;ﬁumarwaawwm%r’sm?rwr@mail%ff
YER & SEiferhE A 8 g9 gHifgal ok Sifedl ) ow= W) 40

SECTION -1II
Qe - 1

2. Describe the important characteristics of an underdeveloped economy. Do you consider
Indian economy an underdeveloped economy? Give reasons for your answer.

afewfad sdfaraen & Agaql wevil w1 9o w1 Y WRdE sderEen &)
Ffawfg sefaraen 7Y €7 999 SW & SRO =@d|

OR /&gt

What do you understand by inclusive growth? Critically examine the Government policies to
promote inclusive growth in India.

TuTast fogrg @ 39 R GEAS €7 WRA § gwash fawd w1 FgEan 3 & fou
TER Aifadi w1 scliEAcAS wWE ) 40

—

C
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SECTION -1V
gus - [V

Explain the concept of food sccurity system. What are the flaws in Indian food security
programme? What policy measures have been undertaken by the Government to ensure food

sccurity for all?

T R SOl R @ aweg WRA @RI e wEEH WO wifei
€ ot % fu @ wen gifesd = ¥ fm s@r gr @ Afmd sam fag
T2

OR /&1

What do you mean by Foreign Direct Investment (FDI)? Briefly discuss the FDI policy and its

performances in India.

yogel fagslt fray ¥ sy #1 arqd € ° WRdg ywe faesh fRy Fifs @ sas

wesA Y diew =rEn ++1) 40

SECTION-V
gg -V

Give an overview of industrial development in the State of JTharkhand since 1991. Discuss the

problems faced by the Industrial Sector in the State.

1991%m@mwmﬁaﬁaﬁﬁmfﬁmm&rﬁvﬂmﬁl,\mﬁ NN
&9 F FHA AT wwensl WoSEt w)

CCSME23 (19)/39



1 19 (PV)

Vlarks
AR

OR / 3igan

Explain the nature and causes of unemployment in Jharkhand. What steps have been taken by
the Jharkhand Governiment to solve the problem of unemployment?

AREE & AATIR R wHT R FRON H em@r &I RITK FoaHeEr &
FaE & fou ARE@R @WHR 7 T FH I5A 7 40

* ok ok
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